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01 AlR22telHl 30,000 30,000
L et==ZH| 30,000
OSBHMALRAUS 30,000
403 MXISHHSX=Z01H 108,000 108,000 0




D EESoHAYE=2R
A XA

A WX A

ni;

Rl OIU XN SEH XA (SH9 H2)
AZ 2N - FB - OI(SH) - NRAY - BIES 0 &t A HimE==T
01 AXISHHA =22 & 108,000 108,000 0
OSASHUUXXEAISE0IS K 108,000
UK A S R X2 5,760 5,760
201 er23y| 5,760 5,760
02 2324l 5,760 5,760
OS223LHA 5,760
OUUXIAHARIASIIRERS 5,760
OiiXIoI = gkel st 338,200 663,900 /330,700
= 289,900
< 48,300
ANEEZAY 289,400 620,500 A331,100
= 289,400
403 TR SHMSAH=01 ™ 289,400 596,600 307,200
= 289,400
01 AXEMA2EE 289,400 596,600 307,200
OXI S0l KT = A 289,400
= 289,400
INE:LV [E DA Bt =T 1,000 1,000 0
= 500
< 500
201 eer23y| 1,000 1,000 0
= 500
= 500
01 AtR2t2l] 1,000 1,000 0
2ot =H| 1,000
OXFUXI A& = w=F 1,000
= 500
< 500
INE:JV [EDNRMES = =tk 47,800 47,400 400
201 er2 3| 17,400 17,400
01 AtR2tel] 17,400 17,400
2 Bt==H| 17,400
OXGUXNEAEESNES 17,400
303 a2 5,400 5,000 400
01 Z&2 5,400 5,000 400
OO XIAI =R 2= Al Al & 5,400
308 AtXIEMSOIH 25,000 25,000
1 SIS0t oA AS A 25,000 25,000
QU X 2SS WS X2 16,000
OZ&4=Z0UXICHA R 9,000
dE=Q2e| 7,596,400 11,638,050 24,041,650
) 4,941,900




N
SV Ep = b

: HEaQpe

M T olEX AR

(Er2 &)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
STrTATSRtE T == B Ofl &k o se
& 2,654,500
FHAHE0 XIS KA 585,900 1,014,000 A428,100
| 585,900
403 XX SHHMSKH=01A 585,900 1,014,000 A428,100
| 585,900
01 Xt A28 £ 585,900 1,014,000 A428,100
COFE L AHSHH KIS X ALS 585,900
| 585,900
el =g d&EXISaAL 7,010,500 10,624,050 3,613,550
| 4,356,000
& 2,654,500
403 XIS MS 201 7,010,500 10,624,050 23,613,550
| 4,356,000
& 2,654,500
01 AtXIEtH A2 £ 7,010,500 10,624,050 23,613,550
OO wg 8 XISsAIY 7,010,500
| 4,356,000
= 2,654,500
SAMHD|BIRS 1,300,000 0 1,300,000
s 1,000,000
& 300,000
AT AR 1,300,000 0 1,300,000
s 1,000,000
& 300,000
403 XIS MS 201 1,300,000 0 1,300,000
s 1,000,000
& 300,000
01 XX SN AH=E X 1,300,000 0 1,300,000
O=2SAIA (S EH]) 1,300,000
= 1,000,000
= 300,000
MOl A EHOLE 60,000 50,000 10,000
MEH X HE S S LS 60,000 50,000 10,000
MEYHXIHE B Z XA 60,000 50,000 10,000
307 QI2H0| M 60,000 50,000 10,000
02 QIRHEAAIH B X 60,000 50,000 10,000
&AM S MEI|A L XK 40,000
RARI- S8 c|XI& 20,000
2 AH| (0L XA D) 54,752 54,216 536
JlZ2&H| 54,752 54,216 536
J12&H| 54,752 54,216 536
201 B2 AL| 25,152 21,416 3,736
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H & 0l & AHS B Ml A

AR SRR 2N AXEE)
M WRES(AXAZH)
el LR KIE (SH9 H2)
AT 24 ZE . SRAE) - NIRAY - BES ol ke o= RS2
=T TAem = T <7 - Ofl &kl ==
AR Y} 25,277,326 27,614,760 N2,337,434
WSS (JXE™D) 25,277,326 27,614,760 A2,337,434
LIS HeH K= 25,277,326 27,614,760 2,337,434
LA AT RAILMSEEHEES 25,277,326 27,614,760 2,337,434
701 JIEFBIHSHER 25,277,326 27,614,760 2,337,434
| 25,277,326 27,614,760 N2,337,434

SAREANLEHSEHEES

25,277,326




H = 0 & AFS Y Al A
T L S YA
Hu: Ao A2
el oggdg 2 ond (SH9 H2)
AR SA . O(BH) - HRAY - BAS ofl b dE= HDS2
d= - FA - 35 = 945 . 0l & =
O QF=AF 1t 76,452,353 82,633,554 6,181,201
= 39,215,390
J| 383,485
& 36,848,478
SAAO|H A2t 76,274,463 81,727,904 N5,453,441
= 39,215,390
| 388,485
= 36,670,588
HEHIGR2EZONA 9,261,574 8,945,060 316,514
= 5,117,700
< 4,143,874
HEKNE=EA2A 310,460 321,492 11,032
201 LBr2AH| 218,460 229,900 211,440
01 AFR22teltl 9,660 31,020 A21,360
294 7,560
ORI =LA R =AH| 7,560
E==1s] 2,100
ORI CEAAHEZ TS 2,100
02 S32ZH| 208,800 198,880 9,920
(2222 Al 36,000
OHGEXNENBSEEZLHI LRSS 36,000
COJAIE&HIK X 4,800
OSAl - MIIANESIIIIR NI 4,800
CIXt & BHH| 168,000
OHE XN E=EAREHIS 160,000
(@I =IN]s] 8,000
202 044| 12,000 11,592 408
01 2L Y| 12,000 11,592 408
O8HHEHESHE N EESS 0] 12,000
301 LEtEXZ 5,000 5,000
14 J|EI2 A= 5,000 5,000
OUAHZSEHE A DT AZ 5,000
401 A& HILE0HY] 70,000 70,000
01 Al&H| 70,000 70,000
COHYEXREAR KBS 70,000
405 KHHF S| 5,000 5,000
01 AL S EF S| 5,000 5,000
OxetEdEs) 5,000
HEAFDHEAIABI = 54,600 56,815 N2,215
= 42,000
c 12,600
403 XIXIHHSAHE0|A 54,600 56,815 N2,215




A= gsoligER FA oot
M Ao R M2
el oggdg 2 ond (SH9 H2)
424 - ZH - O9i(E) - MRAY - BES ofl & A HDS2
= 42,000
= 12,600
01 XM A2 E X 54,600 56,815 A2,215
OIS AL DM SAI A B = 54,600
= 42,000
& 12,600
=02 EHIEHI DA X2 309,400 314,600 25,200
= 238,000
< 71,400
403 NXISHHSA=201& 309,400 314,600 25,200
= 238,000
< 71,400
01 AXIHMA 22X 309,400 314,600 25,200
OS2 L8 nH X2 309,400
= 238,000
= 71,400
YENL0ES 2,443,357 2,370,000 73,357
= 2,165,000
< 278,357
403 MXITHHMSA=201H 2,443,357 2,370,000 73,357
= 2,165,000
= 218,357
01 XIXISHMA 22X 2,443,357 2,370,000 73,357
Ld=Zold0+23 2,443,357
= 2,165,000
== 278,357
(O 22 pelieshe e Sp) Bt 156,320 156,320 0
201 Ler2aY| 152,000 152,000
01 Ab2teltl 162,000 152,000
[get=+=y| 150,000
O AR EANLTNE LR Z RO 30,000
Ot HE 120,000
Heg=¢ 2,000
Ox&3 B3N+ 2,000
203 =Y 4,320 4,320
03 A=A H =AY 4,320 4,320
DN LL 2T 4,320
N AL MM L H XS 20,000 20,000
308 XXM SOIA 20,000 20,000
01 MXHMBdEx= 20,000 20,000
Lo At M A N A X2 20,000
A E R ELS 2,492,925 2,212,500 280,425




A2 BEHNEES S oA
HB: abRlo| WS
el oggdg 2 ond (SH9 H2)
4224 - B B9IEH) - AIRAY - B of v G o HIDE2
= 2,319,000
=S 173,925
403 X HMSAH=01H 2,492,925 2,212,500 280,425
= 2,319,000
== 173,925
01 A= 2L 2,492,925 2,212,500 280,425
gt a2y 2,492,925
= 2,319,000
S 173,925
OO & AL EH AL 52,000 52,000 0
= 26,000
= 26,000
403 THXIMSAH=01H 52,000 52,000 0
= 26,000
=S 26,000
02 SISt A2 A2 52,000 52,000 0
LSO L A B AL 52,000
= 26,000
[ 26,000
SHAIH L E 2SN 5,000 5,000 0
307 @120l & 5,000 5,000
02 QB AANEE R 5,000 5,000
W EAGESS) 1 y= =N 5,000
M EHIXIA 100,000 95,000 5,000
403 TR M SAH=01H 100,000 95,000 5,000
01 AXISHHA=2EXE 100,000 95,000 5,000
Do EHIXA 100,000
GESE = PNPAL 35,000 35,000 0
403 MR HHMSAH=01H 35,000 35,000
01 AXISHHA 22 % 35,000 35,000
o5 L2 35,000
= LU PO RIFSET T DA 38,000 38,000 0
308 AHAIEHMSOIE 38,000 38,000
01 HAHHBSEXRS 38,000 38,000
OAag0odor™ e XA 38,000
HE(J)2EEXR 789,400 758,400 31,000
308 XXM SOIA 789,400 758,400 31,000
01 AXEH B2 LS 789,400 758,400 31,000
Ooid (&) 22X 789,400
ORIt EEHEXIR 22,350 19,920 2,430
308 AHXIEMSOIH 22,350 19,920 2,430
01 HRESHHBAEES 22,350 19,920 2,430




AR s=HKg=E ekt
I A0S
el oggdg 2 ond (SH9 H2)
AT 2N - FHB . O(S) - HRAY - AR Ol arol 8o D=2
STrTATSRtE T == B Ofl &k o se
ECEEREEEENE 22,350
HYERBIX 400,000 350,000 50,000
308 XLXIEHHISOI & 400,000 350,000 50,000
01 RXISHBAEEZ 400,000 350,000 50,000
oY 8RN 400,000
M AFD PRS2 0 & K| 2 17,000 17,000 0
308 XHXISHHIS 0| & 17,000 17,000
01 RXISHHZABES 17,000 17,000
DA D PRS0 MK 17,000
IAZH ORI 2 50,000 50,000 0
308 XHXISHHIS 0| & 50,000 50,000
01 AXISHIABEZ 50,000 50,000
OHASHHLRRIAA A2 50,000
CHAI =B Z = 70,000 70,000
308 XHXISHHIS 0| & 70,000 70,000
01 RXISHIAEEZ 70,000 70,000
CICHAIO1 & 8 Z J Ul (=01 = 0f) 70,000
HABHSMRAILXI 15,000 37,500 22,500
403 XHXI SIS XH=0| 15,000 37,500 22,500
01 MRS A=EE 15,000 37,500 £22,500
L BEH S EAIL X 15,000
S SESF DDA 125,000 125,000 0
= 125,000
308 XHXISHHIS 0| & 125,000 125,000 0
= 125,000
08 WEI|IZ0ICHEHEE 125,000 125,000 0
DA SHS DDA 125,000
= 125,000
BENN N 332,000 260,000 72,000
= 200,000
< 132,000
403 XEXISHHI S XH2 01 & 332,000 260,000 72,000
= 200,000
= 132,000
01 RIXISHHIXHE B X 332,000 260,000 72,000
mEERREENEREE 332,000
= 200,000
= 132,000
Fo0{ 11 X/ 2 3,186 3,540 ~354
= 2,700
< 486
308 XHXISHHIS 0| & 3,186 3,540 ~354




AR sEHRAER S
HB: abRlo| WS
el oggdg 2 ond (SH9 H2)
AR 2N B . O9(3H) - NBAY - BES ol by dE= HDS2
d=-FA-3858-8 = 4= = 0l &+ 2
= 2,700
& 486
01 AIXSHMBAEERZ 3,186 3,540 N34
OF 2= XA 3,186
= 2,700
= 486
S AEHESIEDIEHI KA 30,000 30,000
307 2I2t01™ 30,000 30,000
02 QLB AMAIEE X 30,000 30,000
N = PSR Fa | DAL 30,000
HE oA =23 71,532 66,090 5,442
308 KX SHHMSOIN 71,532 66,090 5,442
01 AXISHNEAEEXZ 71,532 66,090 5,442
OxMEEXNES 71,532
A ABHOICHH K& 85,000 95,000 A 10,000
307 2I2t0|™ 85,000 85,000 0
03 QIZIHXIHE2IHIE X 47,000 47,000 0
O dPBHOIAS S| 2ALI XA 47,000
04 QIZISHAFAIRH 2 & 38,000 38,000 0
M PEHOIEHS 38,000
QAR R=AXA 50,000 45,868 4132
308 AXIHHMSOIA 50,000 45,868 4132
01 AIXSHHEAERZS 50,000 45,868 4,132
O=2o0ld )= X3 50,000
QORI EAHIE XA 5,922 5,922
308 AXIHHSOIA 5,922 5,922
01 AIXHMBAEEZ 5,922 5,922
Q2OIMJAEUHI2 XA 5,922
oHY=AOIOI A DSAIHI X 57,720 29,250 28,470
308 AXIHHSOIA 57,720 29,250 28,470
08 WFJ|20tistE2 X 57,720 29,250 28,470
[Jol 2= AD0I A B DS AHI K 57,720
CHHIH I =CHS] 20,000 0 20,000
307 S1Zto| & 20,000 20,000
04 QIZISHAAIR E X 20,000 20,000
CHAIH S I =TS 20,000
OO RHR T A 45,000 0 45,000
308 AXIHHSOIA 45,000 45,000
01 AIXHMBAEEZ 45,000 45,000
CI&ECH O RFRI R AL 45,000
Ol 20|22 HE 1,000,000 1,000,000
403 XIXIHMS K20 A 1,000,000 0 1,000,000




2= solg=Es A o eka=abit
HB: abRlo| WS
el oggdg 2 ond (SH9 H2)
4224 - B G9(EH) - AIRAY - BES of v G o HIDE2
01 AXISHHA =22 & 1,000,000 0 1,000,000
L0t 20|22/ E 1,000,000
AZHAHE AR FHIXIR 25,402 25,402
308 AXIHS0IA 25,402 25,402
01 HRHHBSEELS 25,402 25,402
A2 IR FEIXEA 25,402
2 0golsttsial 30,000 30,000
307 @I2t01 & 30,000 30,000
02 LB MAHEE 30,000 30,000
OZzoidelstotsial 30,000
HEogatzel s 43,618,030 53,837,692 10,219,662
= 23,082,540
== 20,535,490
GESGIEIEE ot el Pt St p 11,610 11,610
203 HF=H| 11,610 11,610
03 A= PR FAI| 11,610 11,610
Lo Eg2AZoI a2 =L 2R 11,610
Aol A e B HeE ot 300,000 100,000 200,000
401 AlZHIZ SO 300,000 100,000 200,000
01 AlZ28| 300,000 100,000 200,000
OXgoig2 AL etZ G erE ot 300,000
HEFE300(2021E 6 H) 12,752,812 12,752,812 0
= 11,299,960
=S 1,452,852
403 X SHHMSAH=01H 12,752,812 12,752,812 0
= 11,299,960
< 1,452,852
01 AXISHHA 22 % 12,752,812 12,752,812 0
O ERE300(20219 6 H) 12,752,812
= 11,299,960
= 1,452,852
&= E300(20228 8 ) 8,365,608 0 8,365,608
= 7,412,580
= 953,028
403 TR M SAH=01 ™ 8,365,608 0 8,365,608
= 7,412,580
s 953,028
01 AXISHHA =2 £ 8,365,608 0 8,365,608
O ERE300(202E9 & F) 8,365,608
= 7,412,580
[ 953,028
NS AL (M EALS) 5,000,000 3,750,000 1,250,000




2= solg=Es A o eka=abit
HB: pbRlo| WS
ool OlE0E BB TTE (chol @)
4224 - HY - G9I(E0) - AIRAY - B of v G o HIDE2
401 AlZHIZL SO 5,000,000 3,750,000 1,250,000
01 Al&H| 4,975,000 3,729,000 1,246,000
OxgogAs 4,975,000
03 AIZ2THYI 25,000 21,000 4,000
OXgoigH& Uy 25,000
OIS QA EXI (HEALY) 508,000 380,000 128,000
403 AXIEHMSAH=201H 508,000 380,000 128,000
01 XM =2 E 508,000 380,000 128,000
Oo=sHA2I 4R 508,000
INEHGEEPNES 1,945,000 3,040,000 A1,095,000
403 AXIEHHSAH=0I 1,945,000 3,040,000 1,095,000
01 AXISHHA=2EXE 1,945,000 3,040,000 1,005,000
OXZoEAlL 1,945,000
220 A 1,300,000 1,300,000
403 MR HHMSAHE01H 1,300,000 1,300,000
01 MHXIHHA 22 1,300,000 1,300,000
OARZ20EAIE 1,300,000
NYUHETAI K F X2 K& 195,000 140,000 55,000
403 AXIEHMSAH=201H 195,000 140,000 55,000
01 XIS A=E £ 195,000 140,000 55,000
DX oM LR X 22| X J 195,000
=B HI ZLAHHAE 8,740,000 3,800,000 4,940,000
= 4,370,000
== 4,370,000
401 AlEHIZ R0 8,740,000 3,800,000 4,940,000
= 4,370,000
[ 4,370,000
01 A28l 8,230,000 3,434,028 4,795,972
OU=HZAUH =LAMEAY 8,230,000
= 4,115,000
= 4,115,000
02 22/l 500,000 365,972 144,028
OU=HZAO I ZLIAME A (Zeld]) 500,000
= 250,000
=S 250,000
03 Al 2 HHI 10,000 10,000 0
OU==HZA0 B =LIAME A (R O) 10,000
= 5,000
< 5,000
QIZU AL (HEAY) 3,787,000 3,750,000 37,000
401 Al HIZL R 0HbI 3,787,000 3,750,000 37,000
01 Al&HI 3,777,000 3,740,000 37,000




s M oA
Aol F M 2t 5t
HENE2ZolTeHs EER=E)
2. 2A - F . BR(3) - ARAY - BES 0 &y A HIRS
CRIB0E=AIEE X 3,777,000
03 AIE 0Bl 10,000 10,000 0
CRISHE=AIEE X 20 10,000
QIBHZ= A 22 (MEAIY) 563,000 563,000
403 XX SHHSKH=01A 563,000 563,000
02 I 2SS A2 X | EFAIS I 563,000 563,000
ORIsHE= & 22| 563,000
SHEMETOHAIE XA 150,000 0 150,000
403 XX SHHSKH=01A 150,000 0 150,000
01 AtXIEtH A2 £ 150,000 0 150,000
CI0FE2H &M S ZHOHAIE X2 (F=21&01) 150,000
IS EHICI S & stal S 16,165,322 11,609,300 4,556,022
= 10,114,150
== 6,051,172
AQIEAAZHAHI LAY 7,080,000 4,425,000 2,655,000
= 6,000,000
= 1,080,000
403 XIS MS K201 7,080,000 4,425,000 2,655,000
= 6,000,000
< 1,080,000
01 JIXISHXH2E = 7,080,000 4,425,000 2,655,000
OADIESAZHAHEILAIY 7,080,000
= 6,000,000
= 1,080,000
AQIEAAZHAHI Y (BIESXD|EIEY) 2,765,000 395,000 2,370,000
= 2,450,000
==} 315,000
403 X SHHMS K201 A 2,765,000 395,000 2,370,000
= 2,450,000
== 315,000
01 XXM A28 = 2,765,000 395,000 2,370,000
OADIESAMZHAHEIH (BHESXID| B
) 2,765,000
= 2,450,000
= 315,000
LA METNEEZ XA 128,500 60,000 68,500
308 REXIHMSOIH 128,500 60,000 68,500
01 AXISHELAExS 128,500 60,000 68,500
DA =MZ2MHEES XA 128,500
SAEIXHS2 144,207 150,000 A5,793
403 XIS MSAHE01A 144,207 150,000 A5,793
01 XIS AH22 = 144,207 150,000 A5,793




A= ESHRYER |
T Ao A A2
el SFESHBIOSEEAE (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH dEs Hnz=2
S=cTACSS-E T S= - Ol &4 se
| D2amimas 144,207
X2 X E2el SSHXI 644,800 124,000 520,800
= 520,000
= 124,800
403 THAIEMS =01 644,800 124,000 520,800
= 520,000
== 124,800
01 XIS EE 644,800 124,000 520,800
oA E 2| SSH A2 644,800
= 520,000
= 124,800
Z=AETHOH Ol 2L 2RI 21,000 21,000 0
308 AXIHMSOIA 21,000 21,000
01 HREHH B EES 21,000 21,000
CI= & THOH Ol 2 &R 21,000
ISREEZXHA 85,500 41,400 44,100
= 66,500
= 19,000
403 THAIEMS =01 85,500 41,400 44,100
= 66,500
= 19,000
01 XIS A =2 85,500 41,400 44,100
(I EREESXHA 85,500
= 66,500
S 19,000
Safel ey EpS g 216,000 216,000 0
403 MR HHMSAHE01H 216,000 216,000
01 A= 2L 216,000 216,000
(IRSaRelye) E PSS 216,000
DS 2CIAY 300,000 300,000 0
403 TS HE01A 300,000 300,000
01 XIS A =2 300,000 300,000
LOE0 &2 AL 300,000
LAHZSHU X ES ALY 257,015 1,069,200 AB812,185
= 233,650
S 23,365
403 AXIEHMSAH=0lH 257,015 1,069,200 A812,185
= 233,650
[ 23,365
01 A= 2L 257,015 1,069,200 A812,185
OSSN HA 2SS A 257,015
= 233,650
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A= SSiKE=R SA 0 o ekg=atmt
T Ao A A2
el SFESHBIOSEEAE (SH9 H2)
A= 2N - BB S9(S) - HISAY - BES il v A CImE==
01 XN B2 LS 291,000 90,000 201,000
OSoiMES M AL (SHItel) 291,000
= 291,000
A ERONSEZ SR AH(EEALS) 191,000 191,300 2300
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